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GET 20 61 3. 60 57 46 6 40 1.1 - - -
WALH 20 74 3.7 74 42 11 2 9 1.8 - - -
7=%l GAIE 10 15 15 15 14 13 3 10 11 - - -
AT RER ANV EF4 4 - 4 4 4 1 3 1.0 - - -
SR 20 53 2.7 53 52 52 5 47 10 - - =
BYESEET—2 1M 50 294 5.9 288 54 10 - 10 53 200 193 142
—AIHA 10 28 2.8 24 15 14 3 11 1.6 200 162 104
[FEF+IR] AT 10 40 4.0 40 27 3 - 3 1.5 200 180 108
SAEA 5F48 - - - - - - - - - - -
140 569 41 558 265 153 20 133 2.1 = = -
wAUR 20 67 34 67 62 46 29 17 11 - - -
=< fsyit] 20 76 3.8 75 46 13 5 8 1.6 - - -
A TURER @AM 10 8 0.8 8 6 3 2 1 13 = = =
PoeMMAIYRI-2 OV ETA - - - - - - - - - -
FRIER 25 59 2.4 59 58 55 29 26 1.0 - - -
PIRWESE-O-Z [ _gim 55 293 5.3 288 81 19 10 9 3.6 200 196 133
EEEE]M]—Z — M IHA 10 29 2.9 24 12 7 4 3 2.0 200 175 102
. N BT 10 50 5.0 50 26 4 3 1 1.9 200 172 105
[ERREF v /(] HEA =% = — - - - —~ - - .
Bt 150 582 3.9 571 291 147 82 65 2.0 = = =
®AA 2 6 3.0 6 5 1 - 1 1.2 - - -
#AIH 2 - - - - - - - - = = =
WA 2 1 0.5 1 1 - - - 1.0 - - -
EDPIFR HANE ET8 - - - - - - - - - - -
PRI 3 11 3.7 11 11 11 4 7 1.0 - - -
Eﬁﬁl#j_z —MR I 6 114 19.0 111 23 6 3 3 4.8 200 190 137
e —iRI8 3 10 33 8 - - - - - 200 - -
[:FE:F‘PJI\Z] HETR 2 24 12.0 24 7 - - - 3.4 200 161 132
SEAN ETE - - - - - - - - =
Bt 20 166 8.3 161 47 18 7 1 34 - - E
was 6 19 3.2 19 15 8 3 5 1.3 - - -
RAIH 6 22 37 21 10 1 1 - 2.1 - - =
“AH 3 - - - - - - - = = = =
EDHFH BANE EFE 2 - 2 1 - = 2.0 - - =
SR 5 10 2.0 10 10 10 4 6 10 - - -
- %ﬁj_x —R&IHA 20 284 14.2 270 79 9 8 1 3.4 200 190 127
H’-E#—TJ“JI\“Z] —HEIHA 7 30 4.3 24 13 5 3 2 1.8 200 156 103
FET R 3 58 19.3 58 20 - - - 29 200 172 113
AEA T4 2 - 2 2 2 2 - 1.0 - - -
it 50 427 85 406 150 35 21 14 2.7 - E -
“AUR 5 2 0.4 2 2 2 2 = 1.0 = = =
WaIH 5 2 0.4 2 2 - - 1.0 - - -
GAIN 3 - - - - - = - - -
ERHFR HANVE 5F48 - - - - - - - - - -
BRI 5 13 2.6 13 13 13 1M 2 1.0 - - -
£WI—2 — 18 6 197 32.8 185 38 3 1 2 ) 200 178 130
e i@ —RIHA 4 25 6.3 21 3 1 1 - 7.0 200 162 111
(A AR — ok 2 68 34.0 68 32 1 1 - 2.1 200 169 103
SEA £F48 - - - - - - - - - - -
B 30 307 10.2 291 90 20 16 4 3.2 i = =
®AR 6 23 3.8 23 12 8 7 1 1.9 - - -
HwAany 6 25 4.2 25 11 5 5 - 2.3 - - -
WA 3 7 2.3 6 4 4 4 - 1.5 - - -
. ) HANE ET48 2 - 2 1 1 1 - 2.0 - - -
BARRSSH FRHER 5 12 2.4 12 11 10 9 1 1.1 - - -
e —HR 18 20 304 15.2 293 60 8 4 4 4.9 200 180 126
Si:ansdl ] 7 36 54 25 10 4 3 1 25 200 153 105
BT 3 59 19.7 59 21 2 1 1 2.8 200 173 121
SEAN ETE 1 - - - - - - - - - -
&f 50 469 9.4 445 130 42 34 8 3.4 - - -
Wwals 8 9 1.1 9 8 6 5 1 1.1 - - -
“AIH 8 7 09 7 5 2 1 1 1.4 - - -
A 6 6 1.0 6 6 4 4 - 1.0 - - -
e BANH BT - - - - - - - - - - =
RARRFH Eey B 20 2.5 20 20 20 18 2 10 - - -
. o0 —R&IHA 12 135 11.3 131 29 1 1 - 4.5 200 169 111
Lt i) —fRI8 5 13 2.6 6 1 - - - 6.0 200 131 131
BT 3 40 13.3 40 19 1 1 - 2.1 200 177 103
SEA EFE - - - - - - - - - - =
&% 50 230 46 219 88 34 30 4 25 - E E
waiy 67 187 2.8 186 161 117 52 65 1.2 - - -
HAIH 67 206 31 204 116 32 14 18 1.8 - - -
GAIH 37 37 1.0 36 31 24 13 1 12 - - -
HMEIVEE =T& 8 - 8 6 5 2 3 1.3 - - -
SR 7 178 25 178 175 171 80 91 1.0 - - =
—R11 169 1,621 2.6 1,566 364 56 27 29 43 - - =
—AIHA 46 171 3.7 132 54 31 14 17 2.4 - - -
HET R 33 339 10.3 339 152 11 6 5 22 - - -
SAEA EF8 3 - 2 2 2 2 - 1.0 - - -
&% 490 2,750 56 2,651 1,061 449 210 239 25 - = E
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®Aa1m 8 94 11.8 94 21 16 6 10 4.5 -
HWATH 8 112 14.0 112 48 26 14 12 2.3 -
HAIE 4 14 3.5 14 4 4 2 2 3.5 -
RREFREFR AV TSR - - - - - - - - -
SR 12 41 3.4 41 23 20 13 7 1.8 -
[FAEF+ICR] —R 18 30 224 7.5 219 14 3 15.6 200
— R 12 40 3.3 33 16 7 5 2 2.1 200
SHEF AL 6 45 7.5 45 10 1 B 1 4.5 200
B 80 570 7.1 558 136 79 42 37 4.1 -
“am 20 40 2.0 40 22 17 11 6 1.8 -
®anm 20 32 1.6 31 11 5 4 1 2.8 -
HATH 15 9 0.6 9 5 5 4 1 1.8 -
RRREEEFH #AVH T4 - - - - - - - - -
SRR 8 62 7.8 62 62 61 47 14 1.0 -
[(FHEF v+ 2 KR] —fR1 16 68 43 68 5 2 2 - 13.6 200
— I8 7 12 1.7 9 2 B B B 4.5 200
SHETA L 4 13 3.3 13 3 1 B 1 4.3 200
[ 90 236 2.6 232 110 91 68 23 2.1 -
HWa18 8 103 12.9 101 48 35 5 30 2.1 -
] 8 105 13.1 103 43 20 - 20 2.4 -
B 4 22 5.5 22 2 1 - 1 11.0 -
EHEFH BAEVH EHTH 1 - 1 - - - - - -
SR 12 43 3.6 42 32 25 3 22 1.3 -
[FEF+2/R] —# 1 30 239 8.0 230 10 2 - 2 23.0 200
— I 12 36 3.0 26 5 4 - 4 5.2 200
SHEF AL 6 30 5.0 30 6 - - - 5.0 200
B 80 579 7.2 555 146 87 8 79 3.8 -
®Aa1m 13 7 0.5 7 7 3 2 1 1.0 -
AT 13 9 0.7 9 6 3 2 1 15 -
Bals 4 5 1.3 5 2 1 - 1 2.5 -
EfEEiE R HANE EFE - - - - - - - - -
SR 5 40 8.0 40 40 40 22 18 1.0 -
[FAEF+ICR] —R 18 8 43 5.4 43 6 1 1 - 7.2 200
— I 5 3 0.6 2 2 - - - 1.0 200
SHET AL 2 13 6.5 13 6 1 B 1 2.2 200
B 50 120 2.4 119 69 49 27 22 1.7 -
“am 17 16 0.9 15 5 4 1 3 3.0 -
] 17 13 0.8 12 5 4 4 - 2.4 -
B 6 4 0.7 4 3 3 1 2 1.3 -
B2EERER WAV EHTH - - - - - - - - -
SRR 16 72 4.5 72 72 71 57 14 1.0 -
[RFEFEF v /(1] —R 18 15 68 45 67 5 2 2 - 13.4 200
— I8 5 9 1.8 7 2 1 B 1 3.5 200
SHETA L 4 23 5.8 23 2 - B - 1.5 200
[ 80 205 2.6 200 94 85 65 20 2.1 -
®A1H 8 11 1.4 11 11 5 2 3 1.0 -
] 8 3 0.4 3 2 - - - 15 -
Hams 4 1 0.3 1 1 1 B 1 1.0 -
{EREEFER WAV ) - - - - - - - - -
SR 8 27 3.4 27 27 27 15 12 1.0 -
[RRFEF v V/NR] — 1 6 24 4.0 23 10 1 1 - 2.3 200
— I 4 3 0.8 2 2 1 1 - 1.0 200
SHEF AL 2 8 4.0 8 6 1 1 - 1.3 200
Bl 40 77 1.9 75 59 36 20 16 1.3 -
®Aa1m 6 10 1.7 10 10 7 6 1 1.0 -
AT 6 5 0.8 5 4 1 1 - 1.3 -
HAI 3 2 0.7 2 1 1 1 - 2.0 -
FEREFR WAV ETH 1 - 1 - - - - - -
SR 6 23 3.8 23 23 23 17 6 1.0 -
[FRRFAEF v 2 /(Z] —®1 5 7 1.4 7 1 - - - 7.0 200
— I 2 2 1.0 2 1 - - - 2.0 200
SHET AL 2 3 1.5 3 - - - - - 200
B 30 53 1.8 53 40 32 25 7 1.3 -
WATH 80 281 3.5 278 124 87 33 54 2.2 -
] 80 279 3.5 2175 119 59 25 34 2.3 -
WA 40 57 1.4 57 18 16 8 8 3.2 -
WAV =& 2 - 2 - - - - - -
FEEE R 67 308 4.6 307 279 267 174 93 1.1 -
—R 1 110 673 6.1 657 51 13 8 5 12.9 -
— I8 47 105 2.2 81 30 13 6 7 2.7 -
SHETA L 26 135 5.2 135 33 4 1 3 4.1 -
B 450 1,840 4.1 1,792 654 459 255 204 2.7 -
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BAT 20 19 1.0 19 4 4 - 4 4.8 = = -

RAIH 20 14 0.7 13 2 1 - 1 6.5 - - B

GAE 10 4 0.4 3 1 - - - 3.0 - - -

MRREFR BENVH ET4 - - - - - - - - - -

FRIER 20 102 5.1 102 100 99 9 90 1.0 = - -

[FEF+IXR] —fE 18 17 42 2.5 42 9 3 1 4.7 200 176 129

—I8 10 6 0.6 4 1 1 1 - 4.0 200 115 115

BT AN 3 12 4.0 12 2 = - - 6.0 200 145 140

i 100 199 2.0 195 119 108 1 97 16 = = =

®A1M 7 23 3.3 23 6 2 3.8 - - -

@AM 7 20 2.9 20 1 - B - 20.0 = = -

sy @A 2 13 6.5 13 5 2 2.6 - - -

BANE £t4 3 - 3 3 2 2 - 1.0 = - -

(BT —2) FRIER B 38 4.8 38 30 30 19 [ 1.3 - - -

—@1 10 105 10.5 104 6 - B - 17.3 200 179 164

[FEF+ 28] —RIH 3 13 4.3 8 2 - - - 4.0 200 157 149
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BAT 3 2 0.7 2 1 - B - 2.0 - = -
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?_&g}’%ﬁﬂ WA 2 1 0.5 1 - - - - - - - -

WAV EHT& - - - - - - - - - -
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—B1 6 79 13.2 79 8 1 1 - 9.9 200 180 170

[FEF+ 2KZ] —RIM 3 12 2.0 B 4 2 1 1 2.0 200 155 120

FET AN 2 12 6.0 12 2 = - - 6.0 200 182 159

B 20 120 6.0 116 26 14 10 4 45 = = =

®A1M 6 29 4.8 29 1 = - - 29.0 = - -

GAIN 6 36 6.0 36 5 4 1 3 7.2 - = -

AR WA 4 16 4.0 16 2 2 2 - 8.0 - - -

BANVE £¥4 - - - - - B - - = - -

(FEREEEI—R) FRHEE 8 46 5.8 45 36 36 28 8 1.3 - - -

—1 10 56 5.6 55 2 B B - 275 200 159 158

[FEF+ 28] —RIH 4 8 2.0 4 - - - - - 200 - -

H5E7 2 2 9 4.5 9 2 - - = 45 200 171 160

40 200 5.0 194 48 42 31 [ 4.0 = = =

BAT 4 2 0.5 2 1 1 - 1 2.0 = = -

WAy 4 - - - - - - - — — — —

g BAA 4 2 0.5 2 2 2 1 1 1.0 = - -

WAV E=T& 1 - 1 - - - - - - - -

(EBEEEEO—R) FRHRE 6 3 0.5 3 3 3 1 2 1.0 = - -

—R1 6 22 37 22 2 2 1 1 1.8 200 184 113

[FfEF+ 2KZ] —HRIA 4 4 1.0 3 - - - - - 200 - -

BT AN 2 4 2.0 4 1 = - - 4.0 200 106 106

30 38 1.3 37 19 B 3 5 1.9 = = =

®A1M 4 2 0.5 2 2 2 2 - 1.0 = - -

ZEEER AL 4 - — — — - - — — - - -

GAINR 2 7 35 5 5 3 2 1 1.0 - - -

s eses | BAVE £¥4 - - - - - B - - = - -

U - RS e 4 B 2.0 8 8 B Z Z 0 - - =

A=2) —m1m 2 47 23.5 47 5 2 1 1 9.4 10074 96 78

> —HRI8 2 11 55 B 2 1 1 - 4.0 1007+ 74 68

(RREF v /8] SEBT R 2 24 12.0 24 10 - - - 2.4 200 142 101

20 99 5.0 94 32 16 10 6 2.9 = = E

®AIN 6 2 0.3 2 2 2 1 1 1.0 - - -

C R “ATH 6 3 0.5 3 1 1 - 1 3.0 - - -

GAA 4 1 0.3 1 1 1 1 - 1.0 - - -

—prer o EES BANE ET4 1 - 1 1 1 1 - 1.0 - - -

ORISR - REE e 5 B 1.6 B 8 8 2 6 1.0 - - -

a=2) —1R18 5 36 7.2 36 4 1 - 1 9.0 1007+ 81 63

» ) —RIs8 2 6 3.0 4 1 - - - 4.0 10074 73 73

(RREFv 2/ ] FET AN 2 14 7.0 14 5 - - - 28 200 137 103

30 7 2.4 69 23 14 5 9 3.0 = = =

wA1H 50 79 1.6 79 17 11 5 6 4.6 - - -

“AT 49 77 1.6 76 10 7 1 6 7.6 - - -

GAIN 28 44 1.6 41 16 13 B 5 2.6 - - -

BANE £t4 5 B 5 4 3 3 - 1.3 = - -

FEAE SR 53 215 4.1 214 195 194 71 123 1.1 - - -

—m1m 56 387 6.9 385 46 9 4 5 8.4 = - -

—f&I8 28 60 2.1 39 10 4 3 1 3.9 = = -

BTN 16 102 6.4 102 28 1 B 1 36 = B -

280 969 35 941 326 242 95 147 2.9 = = =
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WAl 197 547 2.8 543 302 215 90 125 1.8 - - -
WAIH 196 562 2.9 555 245 98 40 58 2.3 - - -
HBAMH 105 138 1.3 134 65 53 29 24 2.1 - - -
HAIVE T4 15 - 15 10 8 5 3 1.5 - - -
A = IR 191 701 3.7 699 649 632 325 307 1.1 - - -
(0 —fEIH 335 2,681 8.0 2,608 461 78 39 39 5.7 - - -
—REIH 121 336 2.8 252 94 48 23 25 2.7 - - -
HETR 75 576 7.7 576 213 16 7 9 2.7 - - -
HEAN ET8 3 - 2 2 2 2 - 1.0 - - -
B 1,220 5,559 4.6 5,384 2,041 1,150 560 590 2.6 =
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